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	Q1.
	Coal is carried from storage to the boiler by means of?

	Option A:
	 Trolleys

	Option B:
	 V – belts

	Option C:
	Buckets

	Option D: 
	Manually

	
	

	Q2. 
	 In case of non-condensing turbines the back pressure is

	Option A:
	 Atmospheric

	Option B:
	 below atmospheric pressure

	Option C:
	 above atmospheric pressure

	Option D: 
	 Depends on the size of turbine.

	
	

	Q3. 
	 In a throttling process

	Option A:
	 Steam temperature remains constant

	Option B:
	Steam pressure remains constant

	Option C:
	Steam enthalpy remains constant

	Option D: 
	 Steam entropy remains constant

	
	

	Q4. 
	The flow through a nozzle is regarded as

	Option A:
	 Constant volume flow

	Option B:
	Constant pressure flow

	Option C:
	 Isothermal flow


	Option D: 
	 Isentropic flow

	
	

	Q5.
	 The steam enters the nozzle at a

	Option A:
	 High pressure and a low velocity

	Option B:
	 High pressure and a high velocity

	Option C:
	Low pressure and a low velocity

	Option D:
	Low pressure and a high velocity

	
	

	Q6.
	 Sulphur content of fuels is very important to the plant operators because it

	Option A:
	Has high heating value

	Option B:
	 Retards electric precipitation

	Option C:
	 Promotes complete combustion

	Option D:
	 Has highly corrosive effect

	
	

	Q7.
	Which is not correct statement about the function of furnace?

	Option A:
	 To provide proper conditions for continuous complete combustion

	Option B:
	 Mix fuel with air and ignite

	Option C:
	 Separate ash from coal

	Option D: 
	Maintain heat supply to prepare and ignite the incoming fuel

	
	

	Q8. 
	 In a glass tube type water indicator for a boiler, one end of the tube is connected to water space and the other end is connected to

	Option A:
	Water space also

	Option B:
	Chimney

	Option C:
	 Steam space

	Option D: 
	Superheater

	
	

	Q9. 
	In a velocity compounded impulse turbine, when steam flows through the second row of moving blades,

	Option A:
	 Velocity increases

	Option B:
	 Velocity decreases

	Option C:
	 Velocity remains constant

	Option D: 
	Pressure remains constant

	
	

	Q10. 
	Efficiency of a thermal cycle increases by

	Option A:
	 Regeneration

	Option B:
	 Reheating of steam

	Option C:
	Both (A) and (B)

	Option D: 
	Cooling of steam

	
	

	Q11. 
	The air pressure at the fuel bed is reduced below that of atmosphere by means of a fan placed at or near the bottom of the chimney to produce a draught. Such a draught is called

	Option A:
	 Natural draught

	Option B:
	 Induced draught

	Option C:
	Forced draught

	Option D: 
	 Balanced draught

	
	

	Q12. 
	The increase in pressure

	Option A:
	 Lowers the boiling point of a liquid

	Option B:
	Raises the boiling point of a liquid

	Option C:
	 Does not affects the boiling point of a liquid

	Option D:
	Reduces its volume

	
	

	Q13.
	 A stage, in reaction turbine, is represented by

	Option A:
	 Number of casing

	Option B:
	Number of entries of steam

	Option C:
	Number of exits of steam

	Option D: 
	Each row of blades

	
	

	Q14. 
	 The diameter of tubes for natural circulation boiler as compared to controlled circulation boilers is

	Option A:
	More

	Option B:
	 Less

	Option C:
	 Same

	Option D: 
	Could be more or less depending on other factors

	
	

	Q15.
	An economizer in a boiler

	Option A:
	 Increases steam pressure

	Option B:
	Increases steam flow

	Option C:
	 Decreases fuel consumption

	Option D: 
	Decreases steam pressure

	
	

	Q16. 
	 Which is not correct statement about pulverized fuel firing?

	Option A:
	 High burning rate is possible

	Option B:
	Heat release can be easily controlled

	Option C:
	 Fuel burns economically

	Option D: 
	 It is the best technique for burning high ash content fuel having low fusion ash

	
	

	Q17.
	 The process of maintaining the speed of the turbine constant for various load conditions, is known as

	Option A:
	 Bleeding

	Option B:
	 Reheating

	Option C:
	 Governing

	Option D:
	Superheating

	
	

	Q18.
	The pressure of feed water has to be raised before its entry into the boiler. The pressure is raised by a device known as

	Option A:
	 Feed pump

	Option B:
	Injector

	Option C:
	Feed check valve

	Option D: 
	Pressure gauge

	
	

	Q19. 
	 Compounding of steam turbine is done for

	Option A:
	reducing the work done

	Option B:
	 increasing the rotor speed

	Option C:
	 reducing the rotor speed

	Option D: 
	 balancing the turbine

	
	

	Q20.
	  The draught which a chimney produces is called

	Option A:
	Induced draught

	Option B:
	 natural draught 

	Option C:
	forced draught

	Option D:
	 balanced draught

	
	

	Q21.
	For the induced draught the fan is located

	Option A:
	 near bottom of chimney

	Option B:
	 near bottom of furnace

	Option C:
	 at the top of the chimney

	Option D: 
	  anywhere permissible

	
	

	Q22. 
	In jet type condensers

	Option A:
	cooling water passes through tubes and steam surrounds them

	Option B:
	 steam passes through tubes and cooling water surrounds them

	Option C:
	 steam and cooling water mix

	Option D: 
	 steam and cooling water do not mix

	
	

	Q23.
	Pipes carrying steam are generally made up of

	Option A:
	Steel

	Option B:
	 cast iron

	Option C:
	 Copper

	Option D: 
	Aluminium

	
	

	Q24. 
	 What is the pH value of water permissible for boiler?

	Option A:
	0

	Option B:
	7

	Option C:
	slightly less than 7

	Option D: 
	 slightly more than 7

	
	

	Q25.
	The working fluid in liquid phase of a steam power plant is:

	Option A:
	Water

	Option B:
	Graphite

	Option C:
	Steam

	Option D: 
	Flue gases

	
	

	Q26.
	The following is the correct order of energy conversion in thermal power plants

	Option A:
	Chemical energy – Mechanical energy – Electrical energy

	Option B:
	Mechanical energy – Chemical energy – Electrical energy

	Option C:
	Wind energy – Mechanical energy – Electrical energy

	Option D: 
	Heat energy – Electrical energy – Mechanical energy

	
	

	Q27.
	The path of flue gases in Thermal power plant is

	Option A:
	Boiler – Economizer – Superheater– Air preheater

	Option B:
	Boiler – Superheater – Air preheater – Economizer

	Option C:
	Boiler – Air preheater – Superheater – Economizer

	Option D: 
	Boiler – Superheater – Economizer – Air preheater

	
	

	Q28.
	The following is not a component of Thermal power plant

	Option A:
	Condenser

	Option B:
	Cooling tower

	Option C:
	Turbine

	Option D: 
	Fuel tank

	
	

	Q29.
	A ‘stroker’ is a power operated fuel ___ mechanism

	Option A:
	Burning

	Option B:
	Feeding

	Option C:
	Handling

	Option D: 
	Storage

	
	

	Q30.
	The following is not a pulverized fuel burner.

	Option A:
	Tangential burner

	Option B:
	Turbulent burner

	Option C:
	Cyclone burner

	Option D: 
	Radial burner

	
	

	Q31.
	The following is dry type dust collectors 

	Option A:
	Spray type

	Option B:
	Packed type

	Option C:
	Impingement type

	Option D: 
	cyclone separator

	
	

	Q32.
	Which fuel dominates the energy mix in Indian energy scenario?

	Option A:
	Oil

	Option B:
	Natural gas

	Option C:
	Coal

	Option D: 
	nuclear

	
	

	Q33.
	The fourth largest producer of coal and lignite in the world is ______

	Option A:
	USA

	Option B:
	Russia

	Option C:
	India

	Option D: 
	china

	
	

	Q34.
	Indian per capita energy consumption is ____ of the world average.

	Option A:
	4%

	Option B:
	20%

	Option C:
	1%

	Option D: 
	10%

	
	

	Q35.
	Energy consumption per unit of Gross Domestic Product is called as:

	Option A:
	Energy Ratio

	Option B:
	Energy intensity

	Option C:
	Per capita consumption

	Option D: 
	None

	
	

	Q36.
	What is a load factor?

	Option A:
	The ratio of average to maximum demand.

	Option B:
	The ratio of maximum demand to average load.

	Option C:
	The product of maximum demand and average load.

	Option D: 
	The ratio of average load to the plant capacity.

	
	

	Q37.
	Diversity factor is helpful in computing which of the following factors?

	Option A:
	Average load.

	Option B:
	Plant capacity

	Option C:
	Units generated (kWh)

	Option D: 
	Peak demand.

	
	

	Q38.
	An industrial consumer has a load pattern of 2000 kW 0.8 lag for 12 hours and 1000 kW unity power factor for 12 hours. What is the load factor?

	Option A:
	0.5

	Option B:
	0.55

	Option C:
	0.6

	Option D: 
	0.75

	
	

	Q39.
	What is the plant capacity factor?

	Option A:
	A ratio of kWh generated to the product of plant capacity and the number of hours for which the plant is in operation.

	Option B:
	The ratio of sum of individual maximum demands to the maximum demand on power stations.

	Option C:
	The ratio of actual energy produced to the maximum possible energy.

	Option D: 
	The ratio of maximum demand on the power station to the connected load.

	
	

	Q40.
	Capacity factor will be very low when the power plant

	Option A:
	Is operated as base load plant.

	Option B:
	Is operated for supplying base load as well as the peak loads.

	Option C:
	Is operated in emergency only.

	Option D: 
	Is under maintainance.

	
	

	Q41.
	When a pumped storage power plant is operated in conjunction with a steam power plant

	Option A:
	operating cost of steam plant becomes optimum

	Option B:
	Load factor of the steam plant is increased

	Option C:
	The chances of the tripping of the system decrease because of the use of two heterogeneous types of plants.

	Option D: 
	Operation of the storage plant in the pumping mode during the low load period improves the steam plant stability.

	
	

	Q42.
	The Term Surge Tank is associated with

	Option A:
	Low Head Hydro

	Option B:
	Medium head hydro

	Option C:
	Thermal plant

	Option D: 
	High head hydro

	
	

	Q43.
	With reference to hydropower station the graphical representation of the discharge as a function of time is known as:

	Option A:
	Monograph

	Option B:
	Load duration Curve

	Option C:
	Hectograph

	Option D: 
	Hydro graphical

	
	

	Q44.
	Low head hydro plant is also known as ____________

	Option A:
	Canal power plant

	Option B:
	Medium head hydro-plant

	Option C:
	Run-off river hydro-plant

	Option D: 
	Base load hydro plant

	
	

	Q45.
	Which plants supply the peak load for the base power plants?

	Option A:
	Mini hydro plants

	Option B:
	Pump storage power plants

	Option C:
	Low head plants

	Option D: 
	Run-off river power plants

	
	

	Q46.
	Which plants are used with steam and IC engines?

	Option A:
	Pumped storage plants

	Option B:
	Mini hydro plants

	Option C:
	Low head plants

	Option D: 
	Run-off river power plants

	
	

	Q47.
	Which type of turbines does modern hydro power plant use?

	Option A:
	Kaplan turbine

	Option B:
	Francis turbine

	Option C:
	Pelton wheel

	Option D: 
	Cross flow turbine

	
	

	Q48.
	Which type of hydro power plant can be with or without pondage?

	Option A:
	Pumped storage plants

	Option B:
	Mini hydro plants

	Option C:
	Low head plants

	Option D: 
	Run-off river power plants

	
	

	Q49.
	The surge tank controls the water when the load on the turbine is ________

	Option A:
	Equal

	Option B:
	Decreased

	Option C:
	Increased

	Option D: 
	Not present

	
	

	Q50.
	Which type of valves is preferred for moderate heads?

	Option A:
	Butterfly valve

	Option B:
	Tube valve

	Option C:
	Needle vale

	Option D: 
	Globe valve

	
	

	Q51.
	Which type of gate valves are used in high head installations?

	Option A:
	Needle valves

	Option B:
	Butterfly valves

	Option C:
	Globe valve

	Option D: 
	Pinch valve

	
	

	Q52.
	Francis, kaplan and propeller turbines fall under the category of.......

	Option A:
	Impulse turbine

	Option B:
	Reaction turbine

	Option C:
	Impulse reaction combined

	Option D: 
	Axial flow

	
	

	Q53.
	Where is the draft tube of a hydropower station that is an airtight pipe located.

	Option A:
	Near the surge tank.

	Option B:
	In between the penstock and the runner.

	Option C:
	In between the runner exhaust and the tailrace.

	Option D: 
	At the beginning of penstock.

	
	

	Q54.
	In hydropower station what is an enlarged body of water just above the intake and used as a regulating reservoir called?

	Option A:
	pillways.

	Option B:
	Forebay

	Option C:
	Reservoir

	Option D: 
	Penstock

	
	

	Q55.
	Boiling water reactor employs

	Option A:
	 Boiler

	Option B:
	Direct cycle of coolant cycle

	Option C:
	Multi pass system

	Option D: 
	Single Pass system

	
	

	Q56.
	Which of the following nuclear reactor does not need a heat exchanger for generation of steam?

	Option A:
	Gas cooled

	Option B:
	Liquid metal cooled

	Option C:
	Pressurised water

	Option D: 
	Boiling water

	
	

	Q57.
	Half life of a radioactive isotope corresponds to the time required for half of the following to decay

	Option A:
	Electrons

	Option B:
	Protons

	Option C:
	Neutrons

	Option D:
	Atom

	
	

	Q58.
	Why has nuclear energy become an inevitable option for the development of the country?

	Option A:
	Because less pollution caused by nuclear plant

	Option B:
	High efficiency of nuclear energy

	Option C:
	Due to acute shortage of other sources of energy

	Option D: 
	High cost of energy production of other sources

	
	

	Q59. 
	How much amount of nuclear energy burnt is equivalent to the energy produced by 3000 tonnes of coal?

	Option A:
	1kg

	Option B:
	5kg

	Option C:
	15kg

	Option D: 
	20kg

	
	

	Q60.
	What is the most attractive part of nuclear energy?

	Option A:
	Supports countries development

	Option B:
	Causes no pollution

	Option C:
	Has high efficiency of energy production

	Option D: 
	Is available in abundance

	
	

	Q61. 
	Nucleus consists of two sub-particles known as?

	Option A:
	Nucleotides

	Option B:
	Nucleons

	Option C:
	Neutrons

	Option D: 
	Nucleosides

	
	

	Q62.
	 The net neutrons produced per initial neutron accounting for all possible losses is called?

	Option A:
	Bombardment

	Option B:
	Half life

	Option C:
	Multiplication factors

	Option D:
	Covalent bond

	
	

	Q63.
	What is the time during which one half of a number of radioactive species decays or one half of their activity ceases?

	Option A:
	a. Half life

	Option B:
	b. Super critical state

	Option C:
	c. Semi life

	Option D: 
	d. Critical life

	
	

	Q64.
	Electrons that orbit outermost shell of an atom are called?

	Option A:
	a. Valence electrons

	Option B:
	b. Electrons

	Option C:
	Electron coefficients

	Option D: 
	c.  Neutrons

	
	

	Q65. 
	 A covalent bond is also called as ____________

	Option A:
	Atomic bond

	Option B:
	Metal bond

	Option C:
	Molecular bond

	Option D: 
	Metal bond

	
	

	Q66. 
	PWR stands for ________

	Option A:
	Pacific weather Report

	Option B:
	Partially weathered rock

	Option C:
	Pressurized water Reactor

	Option D: 
	Packaging waste regulations

	
	

	Q67.
	What does the top of the pressurizer in pressurized water reactor consists of at primary system pressure?

	Option A:
	Steam

	Option B:
	Air

	Option C:
	Water

	Option D: 
	Fluids

	
	

	Q68. 
	LWR stands for _________

	Option A:
	Lower water reactor

	Option B:
	Line water reactor

	Option C:
	Liquefied water reactor

	Option D: 
	Light water reactor

	
	

	Q69. 
	Which reactor consists of both fertile and fissile material?

	Option A:
	Fast breeder reactor

	Option B:
	Pressurize water reactor

	Option C:
	Boiling Water reactor

	Option D: 
	Converter reactor

	
	

	Q70. 
	The control rods in the control system of nuclear reactors are used to

	Option A:
	Absorb excess neutrons

	Option B:
	Control fuel consumption

	Option C:
	Control temperature

	Option D:
	Control pressure

	
	

	Q71.
	A moderator, in nuclear power plants, is a medium introduced into the fuel mass in order to

	Option A:
	Slow down the speed of fast moving neutrons

	Option B:
	Control the reaction

	Option C:
	Reduce the temperature

	Option D: 
	Extracts heat from nuclear reaction

	
	

	Q72. 
	In nuclear fission each neutron that causes fission releases

	Option A:
	No new neutron

	Option B:
	 At least one new neutron

	Option C:
	 One new neutron

	Option D: 
	More than one new neutron

	
	

	Q73.
	A nuclear fission is initiated when the critical energy as compared to neutron binding energy of the atoms is

	Option A:
	Same

	Option B:
	More

	Option C:
	Less

	Option D: 
	There is no such criterion

	
	

	Q74. 
	Which is the more economical way of transporting coal?

	Option A:
	Sea or River ways

	Option B:
	Railways

	Option C:
	Road transporting

	Option D: 
	By airlifting

	
	

	Q75.
	________________Most efficient power plant

	Option A:
	Hydropower plant

	Option B:
	Nuclear power plant

	Option C:
	Thermal power plant 

	Option D:
	Diesel power plant

	
	

	Q76.
	______________Has highest initial cost

	Option A:
	Hydropower plant

	Option B:
	Nuclear power plant

	Option C:
	Thermal power plant 

	Option D: 
	Diesel power plant

	
	

	Q77. 
	____________Is most simple and clean

	Option A:
	Hydropower plant

	Option B:
	Nuclear power plant

	Option C:
	Thermal power plant 

	Option D: 
	Diesel power plant

	
	

	Q78.
	The steam power plant serves as a base plant for ________

	Option A:
	Nuclear power plant

	Option B:
	Geothermal power plant

	Option C:
	Thermal power plant

	Option D:
	Diesel plant

	
	

	Q79.
	Which of the following least affect the cost of electricity produced in thermal power plant?

	Option A:
	Cost of fuel


	Option B:
	Cost of transportation

	Option C:
	The load factor

	Option D: 
	Salaries of higher officials

	
	

	Q80. 
	Which of the following power plant have longest physical life?

	Option A:
	Thermal power plant

	Option B:
	Nuclear power plant

	Option C:
	Hydroelectric power plant

	Option D: 
	Diesel power plant

	
	

	Q81.
	Electron volt is the unit of

	Option A:
	Atomic power

	Option B:
	Energy

	Option C:
	Voltage

	Option D: 
	 Radio activity

	
	

	Q82. 
	Which of the following power plants can be profitably employed for supplying base loads as well as peak loads?

	Option A:
	Thermal power plant

	Option B:
	Nuclear power plant

	Option C:
	Hydroelectric power plant

	Option D: 
	Diesel power plant

	
	

	Q83.
	Which of following power plants normally operage at high speeds

	Option A:
	Hydro electric.

	Option B:
	Thermal.

	Option C:
	Diesel engine.

	Option D: 
	Petrol engine.

	
	

	Q84. 
	Where reactor operation is designed with fast neutrons such as in reactors using highly enriched fuel, the moderator used is

	Option A:
	 Heavy water

	Option B:
	Graphite

	Option C:
	Carbon dioxide

	Option D: 
	No moderator is needed

	
	

	Q85.
	What does WECS stands for?

	Option A:
	Wind energy conversion system

	Option B:
	Wind engine control system

	Option C:
	Wind energy combined system

	Option D: 
	Wind engine comparison system

	
	

	Q86.
	In which of the following, does machine rotor drives through a step up gear box?

	Option A:
	Horizontal axis with two aerodynamic blades

	Option B:
	Horizontal axis propeller type wind mill

	Option C:
	Horizontal axis multi bladed type wind mill

	Option D: 
	Sail type wind mill

	
	

	Q87.
	Which windmill blades are made by an array of wooden slats?

	Option A:
	Horizontal axis with two aerodynamic blades

	Option B:
	Horizontal axis propeller type wind mill

	Option C:
	Horizontal axis multi bladed type wind mill

	Option D: 
	Horizontal axis wind mills Dutch type

	
	

	Q88.
	With upto how many propellers can windmills are built?

	Option A:
	4

	Option B:
	2

	Option C:
	7

	Option D: 
	6

	
	

	Q89. 
	Select the formula for total power Pt?

	Option A:
	Pt = 1/2gc ρAVi3

	Option B:
	Pt = ρAVi3D3

	Option C:
	Pt = 1/2gc Vi3D3

	Option D: 
	Pt = 2gcVi3

	
	

	Q90. 
	Which type of windmill blades are made out of sheet metal or aluminum?

	Option A:
	Horizontal axis with two aerodynamic blades

	Option B:
	Horizontal axis propeller type wind mill

	Option C:
	Horizontal axis multi bladed type wind mill

	Option D: 
	Sail type wind mill

	
	

	Q91. 
	A device which is used as device for showing direction wind as well used as a decorative purpose?

	Option A:
	Wind socks

	Option B:
	Weather vane

	Option C:
	Pin wheels

	Option D:
	Anemometers

	
	

	Q92.
	Turbines with how many propellers are used in order to avoid vibrations?

	Option A:
	1

	Option B:
	2

	Option C:
	3

	Option D: 
	4

	
	

	Q93. 
	Which type of windmill has better performance?

	Option A:
	Vertical type wind mills

	Option B:
	Darrieus type machines

	Option C:
	Magnus effect rotor

	Option D: 
	Horizontal type windmills

	
	

	Q94.
	Which type of vertical wind machine consists of spinning cylinders?

	Option A:
	Cup anemometer

	Option B:
	Savonius rotor

	Option C:
	Darrieus type rotor

	Option D: 
	Magnus effect rotor

	
	

	Q95. 
	What is the total power produced if the turbine diameter is 90m

	Option A:
	0.155KW

	Option B:
	0.982 KW

	Option C:
	1.452 KW

	Option D: 
	3.12 KW

	
	

	Q96.
	Global Cold wind generated from Oceans moves to

	Option A:
	Mountains

	Option B:
	Equator

	Option C:
	Plain areas

	Option D:
	Poles

	
	

	Q97.
	The wind intensity can be described by

	Option A:
	Reynolds number

	Option B:
	Mach number

	Option C:
	Beaufort number

	Option D: 
	Froude number

	
	

	
	

	Q98.
	Instrument used to measure direct beam of solar irradiance is called ___________

	Option A:
	Pyranometer

	Option B:
	Net radiometer

	Option C:
	Bourdon gauge

	Option D: 
	Pyrheliometer

	
	

	Q99. 
	Photovoltaic cell or solar cell converts

	Option A:
	Electromagnetic radiation directly into electricity

	Option B:
	Thermal energy into electricity

	Option C:
	Solar radiation into kinetic energy

	Option D: 
	Solar radiation into thermal energy

	
	

	Q100.
	The zenith angle is the angle made by the sun’s rays with the ____ to a ______ surface.

	Option A:
	normal, horizontal

	Option B:
	tangent, horizontal

	Option C:
	normal, vertical

	Option D:
	tangent, vertical

	
	

	Q101.
	The voltage of a single solar cell is

	Option A:
	0.2 v

	Option B:
	1.0 v

	Option C:
	0.5 v

	Option D:
	2.0 v

	
	

	Q102.
	In which type of absorber plate is the overall flow direction is along with the absorber glass plate?

	Option A:
	Finned absorber

	Option B:
	A. Overlapped glass absorber

	Option C:
	Non-porous absorber plate

	Option D:
	Porous absorber plate

	
	

	Q103.
	For what purpose are Gas heating collectors used?

	Option A:
	To trap solar radiance

	Option B:
	To act as a medium to help in conversion of sunlight to electrical energy

	Option C:
	Employed as solar air heaters

	Option D: 
	They act as alternate panels in case of failure

	
	

	Q104.
	Approximately how much amount of temperature achieved in Paraboloidal Dish Collector?

	Option A:
	1000℃

	Option B:
	2000℃

	Option C:
	3000℃

	Option D: 
	2500℃

	
	

	Q105.
	In which collector does air flow without any obstruction?

	Option A:
	Porous absorber plate

	Option B:
	Non-porous absorber plate

	Option C:
	Over lapped glass absorber

	Option D: 
	Finned absorber

	
	

	Q106.
	In the paraboloid dish concept, the concentrator tracks the sun by rotating about

	Option A:
	One axes

	Option B:
	Two axes

	Option C:
	Five axes

	Option D: 
	Three axes

	
	

	Q107.
	LST stands for 

	Option A:
	Local standard time

	Option B:
	Local solar temperature

	Option C:
	Low surface temperature

	Option D: 
	Land surface temperature

	
	

	Q108. 
	_______ is a glazing which limits the radiation and convection heat losses.

	Option A:
	Selective surface

	Option B:
	Transparent cover

	Option C:
	Insulation

	Option D: 
	Absorber plate

	
	

	Q109. 
	What are provided to minimize heat loss?

	Option A:
	Absorber plate

	Option B:
	Surface plate

	Option C:
	Insulation

	Option D: 
	Casing

	
	

	Q110. 
	Maximum efficiency is obtained in

	Option A:
	Flat plate collector

	Option B:
	Line focusing collector

	Option C:
	Evacuated tube collector

	Option D:
	Paraboloid dish collector

	
	



